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July/2019 Braindump2go 200-150 Exam Dumps with PDF and VCE New Updated Today! Following are some new 200-150 Exam
Questions:1.]2019 L atest Braindump2go 200-150 Exam Dumps (PDF & VCE) Instant

Download: https://www.braindump2go.com/200-150.html 2.[2019 Latest Braindump2go 200-150 Exam Questions & Answers I nstant
Download: https://drive.google.com/drive/fol ders/OB 75b5xY Lj SSNV mxoUEhT TmZZM X c?usp=sharingReal QuestionsWhat two
technologies can be used to connect to storage arrays on a converged Ethernet |P network? (Choose two.)A. FCoEB. Fiber
ChannelC. iSCSID. InfinBandE. FabricPathAnswer: ACRea QuestionsWhich situation will cause a switch to flood traffic out
all of the ports on the switch?A. The switch receives a destination MAC address of 0000.0000.0000B. The switch receives a
destination MAC address of ffff.ffff.ffffC. The switch receives a source MAC address of 0000.0000.0000D. The switch's TCAM
reaches the MAC address limit.E. The switch was configured in cut-through mode.Answer : BReal QuestionsWhat layer of the
OSI Model provides the logical addressing that routers use for path determination?A.  transportB. networkC. applicationD.
presentationAnswer : BReal QuestionsWhat are three features of the IPv6 protocol ? (Choose three.)A.  optional 1PsecB.
autoconfigurationC. no broadcastsD. complicated headerE. plug-and-playF. checksumsAnswer: BCEReal Questionswhich
table in a switch must be populated with forwarding information as to reduce Layer 2 flooding in the network?A. MAC tableB.
forwarding tableC. ARPtableD. routing tableAnswer: AReal QuestionsA network engineer proposes that old hubs be replaced
by new Layer 2 switches in the company network. Which three are reasons for this proposal? (Choose three.)A.  Each port on a
switch becomesits own collision domain.B. Layer 2 switches provide IP routing at line card speed.C. Hubs create one large
collision domain and one large broadcast domain, which greatly decreasing network performance.D. Switches create one large
collision domain and one large broadcast domain, which greatly increases network performance.E. By connecting each device
directly to a port on the hub, each port on a switch becomes its own broadcast domain.F. Datatransmission is faster on switches
because switches work at line card speed.Answer: ACFRea QuestionsTo improve security, a network engineer needs to configure
an access list on arouter. In which mode can thislist be configured?A. global configurationB. user accessC. user privilegedD.
interface configurationAnswer: AReal QuestionsWhat is the minimum number of disks that are needed in RAID 1?A. 4 disksB.
2disksC. 8disksD. 16 disksAnswer: BRea QuestionsWhat is the minimum number of fabric modules that should beinstalled in
the Cisco Ne*js 7000 chassisfor N 1 redundancy using MI-Serieslinecard?A. 3B. 4C. 5D. 6Answer: ARea Questions
Which address and subnet combination is valid for a host assignment?A. 172.23.175.210/15B. 10.100.74.127/25C.
192.168.73.223/29D. 10.230.33.15/28Answer: AReal QuestionsRefer to the exhibit. What two conclusions can be mode based
upon the output? (Choose two.) A.  regular fromat WWNs are being usedB. the command show flogl database wasrunC. the
command show fcns database vsan 1 wasrunD.  registered name formate WWNs are being usedE.  extended format WWNs are
being used.Answer: BEI''RECOMMEND!!!1.]2019 L atest Braindump2go 200-150 Exam Dumps (PDF & V CE) Instant
Download:https://www.braindump2go.com/200-150.html 2.]2019 L atest Braindump2go 200-150 Study Guide Video Instant
Download: YouTube Video: Y ouTube.com/watch?v=eA0QGADT42
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